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Ideals for irreducible component#ﬂ)f Xpar

It = (—469u° + 1285u® + - - - + 1534b + 422, —469u” + 1285u® + - - - + 3068a — 1879,
ul® — 3u® 4+ 9u® — 160" + 24u8 — 25u° 4 21u* — 4u® — 3u® 4 3u + 4)

Iy = (b+1, 3u* —2u® +a® + 11u* —a — 5u+ 7, v® —u® +4u® — 3u® + 3u — 1)

I =(-au+b+a+1, a*> —u, u> —u+1)

* 3 irreducible components of dim¢ = 0, with total 24 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I I* = (—469u® + 1285u® 4 - - - 4+ 1534b + 422, —469u® + 1285u® 4 - .- +
3068a — 1879, ul® — 3u® + ... + 3u + 4)

(i) Arc colorings

= )
)
;)

0.152868u” — 0.418840u® + - - - + 0.480769u + 0.612451
0.305737u® — 0.837679u® + - - - — 1.03846u — 0.275098

a7 =
ayp =

aq =

0.152868u° — 0.418840u® + - - - + 0.480769u + 0.612451)
as =

0.140808u° — 0.379400u® + - - - — 0.307692u — 0.116037

0.0290091u° + 0.0537810u® + - - - — 0.711538u — 0.220665
0.0397653u” + 0.0456323u® + - - - + 0.153846u — 0.611473

0.0687744u° + 0.0994133u® + - - - — 0.557692u — 0.832138
0.0397653u” + 0.0456323u® + - - - + 0.153846u — 0.611473

a1 = >

(—0.0602999u9 +0.197197u® + - - - 4 1.05769u + 0.857562)
ag =

ag =
as =

(
(+
(
w= (%)
(
(
(
(4

0.0162973u° + 0.108866u® + - - - + 1.03846u + 0.241199

(ii) Obstruction class = —1

(iii) Cusp Shapes
_ 171,9 _ 2698 | 1052, 7 _ 1818, 6 | 2398, 5 _ 4011,4 | 2685,3 _ 3379,2 | 37, _ 2378
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C7 u'® = 3u” + 9u® — 1607 + 24u® — 250° + 21u* — 4u® — 30 4+ 3u + 4
C2,C3,Cs5 U10+U8+U7+5U6+2U4+3u3+2u2+1
Ce
C4 ul® — 3u® 4+ 3u® + 20" — 6uS + 3u® + 3u* — 4ud + 3u® — 3u+2
cg, Cy ul® + 20 + 9u8 4+ 70" + 30u8 + 6u’ + 41ut + 22u% + 4
c10 u® 4+ 9u” + - — 33u + 16




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C7 0 +9y% + ... —33y+ 16
2,63, v+ 207 + 119° + 13y7 + 33y° + 200° + 26y + 9y° + 8y + 4y + 1
Co
C4 y'0 — 3y + 9y® — 16y7 + 24y° — 25¢° + 21y* — 4y® — 3y + 3y + 4
cs, Cy Y0 4+ 14y + - + 176y + 16
c10 y10 —159° + - - 4 5343y + 256




(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol + v/—1CS) Cusp shape

0.741866 + 0.7963411
= 0.500393 + 0.2398421 1.60483 + 1.513361 1.256588 — 0.1719471
= —0.625089 + 0.7789171

= 0.741866 — 0.7963411
= 0.500393 — 0.2398421 1.60483 — 1.513361 1.256588 + 0.1719471
= —0.625089 — 0.7789171

= 1.077560 + 0.7405961
= 0.030843 — 0.7492101 1.74604 + 4.904891 2.53483 — 7.394571
= 0.94514 — 1.332481

= 1.077560 — 0.7405961
= 0.030843 + 0.7492101 1.74604 — 4.904891 2.53483 + 7.394571
= 0.94514 + 1.332481

= —0.429682 + 0.2779601
0.69620 + 1.422911 —1.23090 — 1.077041 —4.33290 + 2.580241
= 0.722559 + 0.5670391

= 0.69620 — 1.422911 —1.23090 + 1.077041 —4.33290 — 2.580241
= 0.722559 — 0.5670391

= —0.25937 4 1.525831
= —0.571923 + 0.7276371 | —7.19127 — 3.978501 —1.38540 + 2.061631
= 1.66770 + 0.849501

—0.25937 — 1.525831
—0.571923 — 0.7276371 | —7.19127 + 3.978501 —1.38540 — 2.061631
1.66770 — 0.849501

0.36963 + 1.735511
= —0.530514 — 0.6247911 | —6.44324 + 10.561001 | —0.07312 — 6.563981
= 1.78968 — 0.930011

= 0.36963 — 1.735511
= —0.530514 + 0.6247917 | —6.44324 — 10.561001 | —0.07312 4 6.563981
= 1.78968 + 0.930011

U
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a
b
U
a
b
u = —0.429682 — 0.277960/
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II.
I¥ = (b+1, 3u*—2u¥+a?’+11u? —a—5u+7, v’ —u*+4u® - 3u?+3u—1)

(i) Arc colorings

o ()

0
ar = U
1
alz u2
a
aq = —1
u
a8: u3+u
a
az = \ —u?a—1
—ut 4+l +au—4u+2u—3
ag = —au+u
—ut +ud — 4u® + 3u — 3
as = —au +u
w?+1
alg = u2

—uta+ut —3ula+ 4 —a+3
a9 = \ya —ula+ 3ua + u® — 2au +a + 2u

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u* — 4u® + 16u? — 12u + 10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1, 7 (u® — u* + 4u® — 3u® 4 3u — 1)?
€2, %3, ZZ u® —u® 4+ 2u® — 2u” + 40’ — 40P + 9ut — TP+ 8u? — du + 1
€a (u® +ut —u® 4 u+1)2
cg, Cy wl® + 0 4+ 208 — 207 + 6u’ + 10u® + 11u* + 27u® + 6u® + 10w + 29
c10 (u® + Tu* + 16u> + 13u? 4 3u — 1)?




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,c7 (y° + Ty* + 1633 + 13y% + 3y — 1)?
@ ZZ y'0 +3y” + 8% + 227 + 38y° + 54y° + Ty + T1y® + 26y + 1
€ (v° —y* +4y® = 3y* + 3y — 1)?
cs, Co Y0 4+ 397 4+ - 4+ 248y + 841
€10 (y° — 17y* 4 80y® — 59y + 35y — 1)2




Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1C)

Cusp shape

0.233677 + 0.8855571
a= 1.186080 + 0.4286721
b = —1.00000

u =

1.47006 + 2.213971

—0.88568 — 4.222891

u= 0.233677 4 0.8855571
a = —0.186079 — 0.4286721

1.47006 + 2.213971

—0.88568 — 4.222891

b = —1.00000
uw= 0.233677 — 0.8855571
a= 1.186080 — 0.4286721 1.47006 — 2.213971 | —0.88568 + 4.222891
b = —1.00000
uw= 0.233677 — 0.8855571
a = —0.186079 + 0.4286721 1.47006 — 2.213971 | —0.88568 + 4.222891
b = —1.00000
u= 0416284
a 0.50000 + 2.553551 4.17205 7.60880
b = —1.00000
u= 0.416284
a= 0.50000 — 2.553551 4.17205 7.60880
b = —1.00000
uw=0.05818 + 1.691281
0.518923 + 0.6340331 | —7.66842 + 3.331741 | —1.91874 — 2.362281
b = —1.00000

uw = 0.05818 + 1.691281
a= 0.481077 — 0.6340331
b = —1.00000

—7.66842 + 3.331741

—1.91874 — 2.362281

uw = 0.05818 — 1.691281
a= 0.518923 — 0.6340331
b = —1.00000

—7.66842 — 3.331741

—1.91874 + 2.362281

uw= 0.05818 — 1.691281
a= 0.481077 + 0.6340331
b = —1.00000

—7.66842 — 3.331741

—1.91874 + 2.362281




II. I¥ = (—au+b+a+1, a®? —u, u> —u+1)

(i) Arc colorings

= (o)

o
o
e
e ()
o

(

(

(

ag —

—au—+u-+1
a9 = \au—a+2u—1
(ii) Obstruction class =1

(iii) Cusp Shapes = —4u + 8
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
1,10 (u? —u+1)2
C2,C3,C5 (u® + 1)2
Co
¢4 ut —u? +1
7 (u? +u+1)2
Cs ut —2ud + 20 —du+4
9 ut + 2u® + 20 + du 44
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1, €7, €10 (y* +y+1)?
C2,C3,Cs5 (y+1)4
Co
€ (y* —y+1)°
cg, Cg y4 — 4y2 + 16
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Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

0.500000 + 0.8660251
= 0.866025 + 0.5000001
= —1.86603 + 0.500001

3.28987 + 2.029881

6.00000 — 3.464101

= 0.500000 + 0.8660251
= —0.866025 — 0.5000001
= —0.133975 — 0.5000001

3.28987 + 2.029881

6.00000 — 3.464101

= 0.500000 — 0.8660251
= 0.866025 — 0.5000001
= —1.86603 — 0.500001

3.28987 — 2.029881

6.00000 + 3.464101

= 0.500000 — 0.8660251
= —0.866025 + 0.5000001
= —0.133975 + 0.5000001

3.28987 — 2.029881

6.00000 + 3.464101
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IV. u-Polynomials

Crossings u-Polynomials at each crossing

1 (u? —u+1)%(u® — u* + 4u® — 3u® + 3u — 1)?

(u'? = 3u? + 9u® — 160" + 24u® — 25u° + 21u? — du® — 3u® + 3u + 4)
C2,¢3,C5 (u® 4+ 1)%(u® 4 u® + ™ + 5u8 + 2ut + 3u® + 2u? + 1)
Ce (' —u® 4 2u® - 20" 4 4uS — 4w 4 9ut — Tud + 8u? — du + 1)

4 (u* —u? + D)W +ut —u? +u+1)2
(' = 3uf + 3u® + 20" — 6u’ + 3u® + 3ut — 4u® + 3u? — 3u + 2)

cr (u? 4+ u+ 1)%(u® — u* + 4u® — 3u® + 3u — 1)?
(u' = 3u® + 9u® — 1607 + 240’ — 25u° + 21u* — 4u® — 3u® + 3u + 4)

cs (ut — 2u® + 2u® — 4u + 4)
(w4 u®  2uB — 207+ 6uS + 10u° + 11wt 4 276 + 6u? + 10u + 29)
(' 200 4+ 9u® 4+ Tu” + 30u8 + 6u” + 41ut + 2202 + 4)

o (u* + 2u® + 2u® + 4u + 4)
(w4 2u® — 20" 4 6uS + 10u® + 11wt + 276 4 6u® + 10u + 29)
(w200 + 9u® + Tu” + 30u8 + 6ud + 41ut + 2202 + 4)

10 (u® —u+1)%(u® + Tu* + 16u® + 13u® + 3u — 1)?

~(u'®4+9u? + -+ — 33u + 16)

14



V. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1, e (% +y+ 1)2(° + Ty* + 16y + 13y + 3y — 1)?
(" + 9y + - — 33y + 16)
2,3, C5 (y+1)*
cé (Y 2y% 4+ 11y® 4 13y7 + 33y + 20y° + 26y* + 9y> + 8y* + 4y + 1)
(90 4 397 + 8y® + 2297 + 38y5 + 54y + Tyt + Ty + 2697 4+ 1)
Cy4 (92 *y+1)2(ys —yt 4y - 3y2 + 3y — 1)2
cs, Co (y* — 4y® + 16)(y™° + 3y° + - - - + 248y + 841)
(y + 1497 + -+ + 176y + 16)
10 (v +y+1)%(y° — 179" + 80y® — 59y + 35y — 1)?

. (le _ 15y9 4+ 5343y -+ 256)
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